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Al 639,704 647,264 N7,560
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M IRIMZZ2S 2 24,987 31,031 26,044
OINE B A 24,987 31,031 26,044
2= 76,9602 7 B +612 x50% 16,431 18,779 22,348
QNS = 76,9603 +7E x 132 50% 3,502 4,002 2500
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HEFEDIATA(ER) 186,019 182,058 3,961
= 119,577 119,577 0
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= 40,865 40,865 0
Al 65,087 61,202 3,885
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(1,879,220 1 )+(2,005,430& * 1) 3,885 0 3,885
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SIHH A2t 10,235,210 10,239,291 4,081
at2tel 10,107,335 10,111,416 A4,081
=ZR Mt 364,859 368,940 A4,081
405 KHAHF SH] 333,919 338,000 24,081
01 AL =S F=H| 333,919 338,000 4,081
OosAg ¢ 333,919 338,000 4,081
Al EAKIE HA(41215) 245,919 250,000 24,081




